3 5N MY (OF)

[ N N N
AR 7Ha4E%
7Fad7d7 (hypothesis test): £&€ E20A dojAl= ZEE o]&sto] B4 dieh Ho e 2719 &8 & S Ad™sts 24t
(1) Bast gof

© SAN 7 Bao) g 278 5
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® 7]ZrY(critical region): HyE 7|25 2 AFTAL ¥ ¥ & A=A



@ YA X(critical value): 7|7t ut HEHA O] 7.

® Al 1 39 27/ (Type I error): H,7} AMQIH= HyE 7|245H 5= @F,
Al 2 59 @F/(Type Il error): H,o] APHRIH = H,= 7|25 H&= 7.

® &-9]5Z(significance level) = P(A] 1 £9] &) =aq,

dasE = P(A 2 §9Y 2R)

B.

@ Bx=H(power) = P( reject Hy| H; is true) =1 — B.

True Status

H, is true H, is true

Do not reject

Correct Decision Type 1l error
Decision | Hy

Reject H| Type I error Correct Decision




@ 7V4( H,, H))9 27

= impossible, since a | implies B 1.

(=13
a

SAlol & 4st AlH

=
=

- a9t B

St
a

opuf=

],

x| 48} 217

=
=

1712 2 14" a oM B

34(=0.01, 0.05, 0.10)e.2 7 gA

@ Statement of decision rule

[o] If X >1.50, do not reject Hj,

If X<1.50, reject H;.
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(o] A BAfolA AJAtEl: HQIES} oh2id] Heli AlZE= X ~ A (75, 81).
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® & @ Set a=5%. Reasonable rejection region is, "Reject Hj if X<c"

= Should determine ¢ using given a =5%. That is,

a =0.05

=P(H1|H0)

=P(X<clu=15)

_ X-15 c— _

=P \/81/25 ¢ \/81/25 lu=1)

= P(z< 180 ), where zj= — 15 ~ A71(0,1), when Hj is true.
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= c1—78705 = —1.645, from standard normal table.

= ¢=72.039.

Therefore, reasonable rejection region is X < 72.039 .
® X=10.

® X=70<172.039 °=2, reject H,.

E=,

0.05 =P(7{<c|u—75)
— 7 c— _
= P( \/81/25 < \/81/25 lu=15)

ooz |zt 5= )%%/2755 ¢ —1.645 o= AR » r}
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= X X, -, Xy ~ 8f(u, 81).
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® & @ Set a =5%. Reasonable rejection region is, "Reject Hy if X< ¢ or X = ¢,"

= Should determine ¢; & ¢, using given a=5%. That is,

a =0.05
=P(H1|H0)
=P(X<c,or X>cy|lu=15)
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a/2 =0.025
- —P(X< ¢ | u="15),
a/2 =0.025
A= _ 1960 & 27T _ 1960 from A0, 1) table.
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= 01273.236, CZ=76.764.~

Therefore, reasonable rejection region is X<73.236 T X=>76.764 .
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(3) S-9J&tE(significance probability, p-value)
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(O P(obtaining a test statistic value which is as extreme or more extreme than the observed value of test statistic | Hj is true),
@ The smallest a value at which H; can be rejected.

[ol] (F=h F<] noteo] 25 4F<)

p-value = P(Z < z*) in case of H;:u< ng,

= P(Z) z") in case of H;:u) u,,



= P(|Z| > |z"]) in case of Hj:u# ng.
<Note>:
(a) If p-value <a = reject H, at significance level a,
If p-value > a = do not reject H, at significance level a.

(b) Calculating a p-value depends on
- test statistics used,

- magnitude of calculated test statistics,

- whether H,; is one-sided or two-sided.



